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This paper consists of 8 questions.
Answer any five questions.
The marks of each question are written alongside the questions.
The use of non-programmable calculators is permitted.
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!
The concept of economic development comprises many dimensions. Is per capita income a

good proxy for these dimensions ? Discuss the Human Development Index as a measure of

economic development. 15
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India and China both started their economic reforms in the 1980s. Discuss the distinct paths

of economic development in these two nations. 15
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(a) The table below shows the income per individual per day in countries A and B. Assume

the poverty line as Rs. 120 per capita per day. in both countries. (Assuming that the

currency is same, Rs., in both the countries)

Income per individual per day (in Rs.)

Individual 1 | Individual Il | Individual 1l | Individual IV Individual V | Individual VI

Country B 90 100 150 100 150 200

Country A 100 200 100 110 150 200

()  Calculate the Head Count ratio in both countries, Would a regressive transfer make

any difference to the head count ratio ? 3

(i) Calculate the Income Gap Ratio in both countries. 2
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In Country B if Rs. 10 is transferred from the first individual to the second individual,

how does it affect the Income Gap Ratio ? Explain your answer. 2

Discuss briefly the measure of poverty that captures the extent of inequality among the

poor. 3

Discuss the difficulties involved in setting an international poverty line. 5
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“Poverty must be seen as the deprivation of basic capabilities rather than merely as

insufficient incomes.” Discuss. 8
Discuss the dynamics of wealth inequality in Europe and the US in the 20th century. 7
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The economy of Solowia produces output using capital and labour. If the labdur force
grows at 3 percent per annum and the labour augmenting technical progress at 4 percent

per year, how fast would the effective labour force grow ? 3

Solowia’s production possibilities are defined by its production ﬁmctiop relating output
per effective unit of labour (y) to the capital per effective unit of labour (k); As long
as k is between 0 and 4, each additional unit of k produces one-third additional units
of y. For k between 5 and 11, each additional unit of & produces one-seventh additional
units of y. After this point each additional unit of k produces one-tenth additional units

of y. What is the capital output ratio at k = 3, 7 and 12 ? 6

What do you understand by the level and growth effects of parameters that explain the

dynamics of the simple Solow model without technical progress. 3,3
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growth with technical progress stemming from deliberate innovation fostered by the allocation

of resources to R&D activity. 15
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“The strategy of unbalanced growth values investment decisions not only for their direct

contribution to output, but also because of their linkages.” Discuss. 15
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(a) Discuss the issue of the governance of critical commons in the light of systematic adaptive

governance systems. 10

(b) Each person behaves within the constraints of his own environment, and this translates

into aggregate behaviour through a system of interactions. Discuss. 5
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